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Instructions : . 1.

- (English Version)

The question papor has four parts, Al porle  are
compulsory. .

Part-A.carries 10 marks. Each quostion carrios 1 murk.

Part-B carries 10 marks. Each quostion carrios 2 marks.
Part-C carries 15 marks. Each quostion carrios 3 marks.
Part-D carries 35 marks, Each quoslion carrios & marke.,

3. Write balanced chemical equations and draw diagrams
- wheréver necessary.

4. Use log tables and simple calculators if necossary. (Uso of
- scientific calculator is not allowed)

 PART-A

l.  Answer any ten of the following questions. Each question carries 1 mark.

2)

3)

.

5).

"

(10 x 1 = 10)

Name the type of crystaline solid, which is electrical insulator in solid stat

but conduct electricity in aqueous solution, -

Mention one practical utility of reverselosmosis_' .

m

At c.onst'ant temperaturé, different gases have different K,, — value. What
does this statement suggest?

Give an example for inert electrode.

What is the order of reaction which has rate éxpression
Rate = K[A]""-[B]**?

| What is meant by “Selectivity of Catalyst"?
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7)

_8)

9)
10)
11)

12)

13)

14)

15)

" | oA

Give one example for heterogeneous catalysis,

Name the method used for concentration of sulphide ore.
Which noble gas has lowest boiling point?

Name the tra-nsition metal present in bronze alloy.

Define the term racemic mixtqre.

Write the IUPAC name of CH; —O ~C,H;.

Aldehydes are more reactive than ketones towards nucteophilic addition
reaction. Give one reason.

What are copolymers?

Mention the role of sodium benzoate in food.

PART - B

_ Answer any five of the folfowmg questions. Each question carries 2 marks :

(5x2=10)

16) An element crystalrses in Face Centred Crystal {[FCC] Iattlce ‘The edge

‘length of the unit cell is 556 pm and it has density 1.55 gem™ Calcuiale

_ the atomic mass of the element. [Given : Na = 6.022 x 10%°]

! 17) _Deﬂne"mblaﬁty [M]. How does molarity vary with temperature?
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18)

19)

20)

21)

22)

23)

+HNO,

24)

25)

Mention any two applications of Kohlrausch law.

What is rpoiar conductance? How is it related to concentration
C" mol m™ and conductivity “K” Sm™'?

What is the role of coke in the extraction of Zinc from Zinc oxide? Write
the chemical equation.

How do xenon fluorides reacts with fluoride ion donors like NaF? Give
equation. |

Write Sy2 mechanism for conversion of chloromethane to methandl.

Complete the equation.
NaNO,+HCI

JH,CN;CI ] — 225 CH,OH+___ +HCI
What are analgesics? Give an example for narcotic analgesics.

Why soap does not work in hard water?

PART-C

Answer any five of the following questions. Each question carries 3 marks :

(5 x 3 = 15)

B 26) In the extraction of Aluminium metal by Hall-Heroult process.

a) Write overall cell reaction.

'b) Whatis the role of NajAlFg ?

c) Onwhich electrode aluminium metal deposits. ' (3)
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27) With reaction conditions, write the balanced chemical equations for the
manufacture of nitric acid by Ostwald's process. (3)

28) Complete the following equations :

a)
b)

c)

29) a)

b)

30) a)

b)

802 + Hzo —>

Na,SO; +H,0+ S0, —» | 3)
How is chlorine prepared in laboratory using KMnO,, ? (2)
Why chlorine water on standing loses yellow colour? (1)

Calculate spin only magnetic moment of ferric ion. [Given : Atomic
number of iron is 26] (2)

Between Sc*® and Cu*? ions, which is colourless? (1)

31) Write the balanced chemical equations in the manufacture of K,Cr,0;

from chromite ore. (3)

32), What is Lanthanoid contraction? Mention any two consequences of it. (3)

33) Draw cis-isomer and trans—isomér of [Co(en),Cl,] complex. What is the
| co-ordination number of cobalt metal in this compler_«c? _ {3)
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34) Using valence bond theory [VBT], explain geometry, hybridisation and
magnetic property of [CoF,] ion. )

[Atomic Number of Cobalt is 27]

35) a) What are heteroleptic complexes? Give an example. (2)

b) If Ag <P, on the basis of Crystal Field Theory [CFT], write the

electronic configuration of d*-ion in octahedral complexes. (1)

PART - D

[V. Answer any three of the following questions. Each question carries 5 marks :
(3x5=15)

36) a) Calculate the packing efficiency in simple cubic crystal lattice. (3)

b) . Calculate the number of particles [atoms] per unit cell in Body
Centred Cubic [BCC] crystal lattice. (2)

37) a) On dissolving 3.46 g of non-volatile solute in 100 g of water, the
boiling point of solution was raised to that of pure water by 0.12 K.
Calculate the molar mass of non-volatile solute. (Given : K, of water
= 0.51 K Kg mol™). | (3)

b) What type of deviation from Raoult’s faw is observed when equal
volume of ethanol and acetone are mixed? Mention the reason for it.

(2)
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38) a)

b)

39) a)

40) a)

b)

41) a)

b)

V. Answer

42) a)
b}

¢)

e HENENB
Calculate the value of AG” at 298 K for the cell reaction.

Mgis} + Cu(aq) — Mg(aq) + Cu{s}
. =0 _ .
Given : Emgﬂmg =-237V;:
Eg .2~ =+0.34 V and F = 96500 C. (3)
u"“/Cu

Suggest any two methods to prevent corrosion of metal. (2)

Derive :ntegrated rate equation for the rate constant of a zero-order
reaction. (3)

Mention any two factors that affect the rate of a chemical reaction. (2)

What is effective collision? Wnte any two factors responsible for
effective collision.. | | (3)

Show that half-life period of a first order reaction is independent of
initial concentration of the reacting species. _ (2)

Gwe any three dlfferences between Lyophilic Colloid and Lyophobic
Colloid. _ | A (3)

Write the expression of Freundlich adsorption isotherm. in this
isotherm, what is the value of “1/n” to show that adsorption is
independent of pressure. | (2)

any four of the following questlons Each question carries 5 marks : ,
(4x5= 20) |
Explain Swarts reaction with an example, (2)
What are Grignard reagents? Write its general formula. (2)' :

Name the poisonous gas evolved when chioroform is oxidised by air- -
in the presence of light. - | (1)
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43) n)

| b)

“44) )

45) =)

b)

- 48) a)

47) a)

b)

Wilte throo stops Involvad In the mochanism of acld catalysed
dohydration of othanal to othono, 3)

What Is Luens rongont? Which class of alcohols does not produceo

twrbldity with it nt room tomparglura? (2)
How is phanol manufacturod by Cumeno procoss? (3)
Explaln Kolbe's roaction with equation. (2)

How doaes formaldehyde reacts with concentrated alkali on heating?
Namae this reaction, | | (3)

Identify the reagent “X" and “Y" used in the following conversion. (2)

@/ Oty e @/ CH (OCrOHCl,),
X ety

e

|

What type of carboxylic acids undergo Hell-Volhard-Zelinsky (HVZ)
reaction. Explain this reaction with example. (3)

Among formic acid and acetic acid, which is weaker acid and why?

(2)
Explain Carbylamine reaction with equation. (2)
How is anlline prepared from nitrobenzene? (2)

Give the IUPAC name of trimethylamine. ‘ M
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49)

50)

S M

Write the Haworth structure of Maltose. (2)
What are polysaccharides? Give an example. (2)

Name any one vitamin that is stored in liver and adipose tissues. (1)

What are fibrous protein? Name the protein present in hair. (2)
Mention two hormones which regulates the glucose level in the
blood. - (2)
Wirite the name of the nitrogeneous base present only in DNA, but
not in RNA . (1)
Name the two monomers present in Nylon — 6, 6. (2)

Explain vulcanisation of rubber. | (2)

-Write the name of the blodegradab!e polymer used in manufacture of

orthopaedic devices. (1)




